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 LSE-06  

BACHELOR OF SCIENCE (B.Sc.) 

Term-End Examination 

June, 2022 

 

LIFE SCIENCE 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Time : 2 hours Maximum Marks : 50 

Note : Answer Part I and Part II in separate answer 

copies. Answer the questions as per instructions 

given in each part. Draw well-labelled diagrams, 

wherever necessary. 

PART I 

(Plant Development) 

Note :  Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 7. All questions 

carry equal marks.    

1. (a) Fill in the blanks : 21=2 

(i) ___________ is the innermost and most 

important layer of the anther wall. 

(ii) The light absorbing portion of 

phytochrome is called ___________  .  
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(b) Select the correct word : 2 

(i) Experiments have shown that the 

terminal bud contains a (higher/lower) 

amount of auxins than the lateral buds. 

(ii) The intine proteins of a pollen grain 

are of (sporophytic/gametophytic) 

origin.  

(c) State whether the following statements are 

True or False :  2
2

1
=1 

(i) In the plants exhibiting dicliny, the 

flowers are unisexual. 

(ii) The cells that form secondary tissues 

are produced by apical meristem. 

2. Write short notes on any two of the  

following : 22
2

1
=5 

(a) Phellogen 

(b) Cellular Endosperm 

(c) Androgenic plants 

(d) Caruncle 
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3. Define any five of the following technical  

terms : 51=5 

(a) Amoeboid tapetum 

(b) Chiropterophily 

(c) Caryopsis 

(d) Crassinucellate 

(e) Storied Cambium 

(f) Abscission 

(g) Phelloderm 

4. What is meant by clonal propagation ? Discuss 

its significance in agriculture and horticulture. 5      

5. (a) Discuss the functions of endosperm 

haustoria. 3 

(b) Describe the structure of an egg-apparatus. 2 

6. (a) Where are the following located ? 4
2

1
=2 

(i) Fusiform initials 

(ii) Complementary cells 

(iii) Tectum 

(iv) Endothecium 

(b) Discuss the role of seed dormancy. 3 
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7. Differentiate between any two of the  

following : 22
2

1
=5 

(a) Coleoptile and Coleorrhiza 

(b) Euspory and Aneuspory 

(c) Thigmotropism and Phototropism 

(d) Physiological effects of cytokinins and 

ethylene on plant growth and development 
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PART II 

(Animal Development) 

Note :  Question no. 8 is compulsory. Attempt any 

four questions from questions no. 9 to 14. Give 

figures, wherever necessary.  

8. Fill in the blanks with appropriate words : 51=5 

(a) The outermost thin layer covering  

the uterus of human female is called 

____________. 

(b) Isolecithal egg of a sea urchin undergoes 

____________ cleavage. 

(c) Human foetal heartbeat can be heard in 

____________ month. 

(d) Programmed cell death is known as 

____________. 

(e) The first stage of carcinogenesis is 

____________. 

9. Discuss the different morphogenetic cell  

movements in gastrulation. 5 

10. Define growth in animals. Differentiate between 

allometric and isometric growth. 2+3=5 



LSE-06 6 

11. Describe the process of metamorphosis in 

anurans (Class : Amphibia). 5 

12. List three types of regeneration in animals. 

Explain any one briefly. 3+2=5 

13. Describe the process of implantation in pregnant 

human female. 5 

14. Write short notes on any two of the  

following : 22
2

1
=5 

(a) Development of Heart in Chick 

(b) Induction of Mesoderm in Amphibians 

(c) Formation of Primitive Streak in Chick 

(d) Apical Ectodermal Ridge (AER) in Chick 
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 Eb.Eg.B©.-06  
 

 {dkmZ ñZmVH$ (~r.Eg gr.) 
gÌm§V narjm 
OyZ,  2022 

 
Ord {dkmZ 

Eb.Eg.B©.-06 : n[adY©Z Ord {dkmZ 

g_` : 2 KÊQ>o  A{YH$V_ A§H$ : 50 

ZmoQ> :  ^mJ I Am¡a ^mJ II Ho$ CÎma AbJ-AbJ CÎma-nwpñVH$mAm|  
_| Xr{OE & àíZm| Ho$ CÎma àË`oH$ ^mJ _| {XE JE AZwXoem| Ho$ 
AZwgma Xr{OE & Ohm± H$ht Amdí`H$ hmo, gwZm_m§{H$V AmaoI 
~ZmBE & 

^mJ I  

(nmXn n[adY©Z)  

ZmoQ> :  àíZ g§. 1 A{Zdm`© h¡ & àíZ g§. 2 go 7 _| go {H$Ýht Mma 
àíZm| Ho$ CÎma Xr{OE & g^r àíZm| Ho$ A§H$ g_mZ h¢ &  

1. (H$) [aº$ ñWmZm| H$s ny{V© H$s{OE : 21=2 

(i) __________ namJH$moe {^{Îm H$s g~go ^rVar 

Am¡a g~go _hÎdnyU© naV h¡ & 

(ii) \$mBQ>moH«$mo_ H$m àH$me gmoIZo dmbm ^mJ 

__________ H$hbmVm h¡ & 
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(I) ghr eãX Mw{ZE :  2   

(i) à`moJm| go `h gm{~V hmo MwH$m h¡ {H$ A§VñW 

H${bH$m _| Am°pŠgZ| nmpíd©H$ H$br go 

(A{YH$/H$_) _mÌm _| hmoVr h¢ & 

(ii) namJH$U Ho$ A§V:Mmob àmoQ>rZ 

(~rOmUwCX²{^X²/`w½_H$moX²{^X²) _yb Ho$ hmoVo h¢ & 

(J) ~VmBE {H$ {ZåZ{b{IV H$WZ ghr  h¢ `m µJbV : 2
2

1
=1   

(i) n¥WH²$qbJVm Xem©Zo dmbo nm¡Ym| _|, EH$qbJr nwîn 

hmoVo h¢ & 

(ii) {ÛVr`H$ D$VH$m| H$mo ~ZmZo dmbr H$mo{eH$mE± 

àamoh (erf©ñW) _o[añQ>o_ Ûmam CËnÞ hmoVr h¢ & 

2. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{já {Q>ßn{U`m±  

{b{IE : 22
2

1
=5 

(H$) H$mJOZ 

(I) H$mo{eH$s` ^«yUnmof 

(J) nw§OZr` nm¡Yo  

(K) H¡$a§H$b 
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3. {ZåZ{b{IV _| go {H$Ýht nm±M  VH$ZrH$s eãXm| H$s n[a^mfm 

Xr{OE : 51=5 

(H$) A_r~m^ Q>onrQ>_ 

(I) M_JmX‹S>-namJU 

(J) H¡$[aAm°pßgg 

(K) ñWyb ~rOm§S>H$m` 

(L>) ñV[aV H¡$på~`_ 

(M) {dbJZ 

(N>) H$mJ AñVa 

4. ŠbmoZr àdY©Z go Š`m A{^àm` h¡ ? BgHo$ H¥${f VWm CÚmZ 

H¥${f _| _hÎd H$s MMm© H$s{OE & 5  

5. (H$) ^y«Unmof MyfH$m§J Ho$ àH$m`mªo H$s {ddoMZm H$s{OE & 3 

(I) A§S>-CnH$aU H$s g§aMZm H$m dU©Z H$s{OE & 2 

6. (H$) {ZåZ{b{IV g§aMZmE± H$hm± pñWV h¢ ? 4
2

1
=2 

(i) VHw©$ê$n AmÚH$ 

(ii) g§nyaH$ H$mo{eH$mE±$ 

(iii) Q>oŠQ>_ 

(iv) E§S>moWr{g`_ 

(I) ~rO àgw{á H$s ^y{_H$m H$s MMm© H$s{OE &  3 
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7. {ZåZ{b{IV _| go {H$Ýht Xmo  _| A§Va ñnï> H$s{OE :   22
2

1
=5 

(H$) àm§Hw$a Mmob VWm _ybm§Hw$a Mmob 

(I) gw~rOmUwVm VWm Agw~rOmUwVm 

(J) ñnem©ZwdV©Z VWm àH$memZwdV©Z 

(K) nmXn d¥{Õ Ed§ {dH$mg _| gmBQ>moH$mB{ZZm| VWm 

E{WbrZ Ho$ eara{H«$`mË_H$ à^md 
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^mJ II 

(àmUr n[adY©Z)  

ZmoQ> :  àíZ g§. 8 A{Zdm`© h¡ & àíZ g§. 9 go 14 _| go {H$Ýht 

Mma àíZm| Ho$ CÎma Xr{OE & Amdí`H$VmZwgma {MÌ ^r 

~ZmBE & 

8. C{MV eãXm| go [aº$ ñWmZm| H$s ny{V© H$s{OE :   51=5 

(H$) ñÌr Ho$ J^m©e` H$s g~go ~mhar nVbr naV H$mo 

__________ H$hVo h¢ & 

(I) g_wÐr A{M©Z Ho$ g_nrVH$s A§S>o _| ____________ 

{dXbZ hmoVm h¡ & 

(J) J^©ñW {eímw Ho$ öX` H$s Y‹S>H$Z __________ _hrZo 

_| gwZr Om gH$Vr h¡ & 

(K) àmoJ«m_r H$mo{eH$m j` H$mo __________ H$hVo h¢ & 

(L>) H¡$ÝgamoËn{Îm H$m nhbm MaU __________ hmoVm h¡ & 

9. J¡ñQ®bm^dZ _| hmoZo dmbr {d{^Þ g§aMZm{dH$mg H$mo{eH$m 

g§MbZm| H$s MMm© H$s{OE & 5 

10. àm{U`m| _| d¥{Õ H$mo n[a^m{fV H$s{OE & gmnoj{_Vr` VWm 

g_{_Vr` d¥{Õ _| A§Va ñnï> H$s{OE & 2+3=5 
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11. EoÝ`yar C^`Mam| _| H$m`m§VaU H$s à{H«$`m H$m dU©Z H$s{OE & 5 

12. O§VwAm| _| hmoZo dmbo VrZ àH$ma Ho$ nwZO©ZZ H$mo gyMr~Õ 

H$s{OE & {H$gr EH$ H$s g§jon _| ì`m»`m H$s{OE & 3+2=5 

13. J^©dVr ñÌr _| A§Vam©onU Ho$ àH«$_ H$m dU©Z H$s{OE & 5 

14. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±  

{b{IE : 2 2
2

1
=5 

(H$) MyµOm| _| öX` H$m {dH$mg 

(I) C^`Mam| _| _Ü`OZñVa H$m àoaU 

(J$) MyµOo _| Am{X dU©aoIm H$m {Z_m©U 

(K) MyµOo _| EnrH$b EŠQ>moS>_©b [aO (AER)$ 


